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SECTION-! RN

2 Write short answers of any eight parts from the following:
i Defirea complex number. 1s 0 a complex number?
i, Whether the set {0, —1} s closed or not w. . t addition and multiplication.

(Rx2=16)

ii. Factorize: 3x% + 3y°

iv. Find multiplicative inverse of —3 — bi
v. Construct ruth table of~(p—=0)—P
vi, Define monoid.

vil.  Eind the matrix X if: X [_?2 ﬂ = [-1-21 g]

\ii. 1 Aand B are scuare malrices of the same order, then explain why in general (A + Byt # A*+2AB+ B*.

1
i fa= \1 + :\, find A(A)*
i

x. Find four fourth roots of 81
v, Use the remainder thaorem to find the remainder when x* — 292 + 3x + 3 is divided byx — 3

M. I o, B are the roots of 3x% ~2x + 4 = 0, find the u'aiiue? nf% + % !

3. Write short angwers of any elght parts from fhe folfowing: (8x2=16)

i Define conditional equetion |

i, Resoive :T:‘E;%T—ﬁ o paria racton wihout finding S,

ii.  Find tne first four terms of the sequence a, = 2:+ y ”

iy/ Determine whether —19 is aterm of 17, 139,

A

yo Sumthe series 422 +% ook Ohy

vii  Prove from the first principle that "P.=n. " Py
di.  Find the value of n when "Gy = "o

. Determing the probability of getting dots less than 5 when a die is rolied.

. Provethatn! > 2" —llorn =45

M. Caiclate (2.02)* by means of binomial thearem.

i, Expand (1+ 2x)™" up to 4 temms.

©x2=18)

4. Write short answers of any nine parts from the following:
Wilte values of rigonometric functions for8 = 3; i

Prove that £ 28 — cos*8 = cot®l cas®8 . Uk '
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Prove that sin(@ + 270) = —cosé.

Prove that sin28 = 2sin8 cos8.

Express sinl2’ sin46’ as sum or difference.
Wit domain and ranga of cos x.

Find per@uc{ of sin .

Draw the graph of tanx for x € (0,7)

Prove that r = (s — b)tan %

Write any two half angle formuiae.

When zngle betwaen ground and sun s 30°, flag poie casts & shadow of 40m long. Find height of top of flag.
Show that cos (sin™%x) = V1 — x2. & '
Soive the equation 4 cos®x =3 =0 .
| SECTION-A

Attempt any three questions. Each question carries equal nwﬁs:' : i (10x3=30)
If ec and g are the roots of x% — 3x + 5 = 0, form the equatlon whose roots are -

1—ox 1—,&

—

n
150 = 148

s 1 -1 2 1
Find the rank of me rir.lz -6 5 .1J
3. 5w =3

Resolve into partial fractions.

Ty e T
Find six anlhmetic means between 2 and 5.

Adieis thrown Fmd Ihe pmbab;hty that the no. af dots on the top are prime numbers or odd numbers.
fxis so smallthat its cube o hlgher powers can be neglected, show tha ’1 = ml-x43 =x?

Solve the triangle ABC, given that oc= 35° 17 § = 45" 13, b= 421.

Reduce cos™*@ to an expression involving only function of multiples of 8, raised to the first power.

A circular wire of radius 6 cm is cut straightened and then bent so as to lie along the circumference of a
hoop of radius 24 cm. Find the measure of the angle which it subtends at the center of the hoop.
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Prove that: tan*% +tan~?
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